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1) Cut out the question and stick it into your book. 

2) [image: image3.png]


Answer the question showing your working out. 

	1) One roll of tape is 56cm long, 31 cm of tape is used. How much tape is left?

	2) The bus is taking 48 children home. At the first stop, 13 children get off. How many children are left?

	3) Tony had 76p. He bought an ice cream for 35p. How much has he got left?

	4) A potato weighs 35 grams; an egg weighs 13 grams less. How much does an egg weigh?

	5) I swam for 35 minutes and had a break. I wanted to swim for 50 minutes. How much longer do I have to swim for?

	6) Gary has 45p, but loses 22p. How much has he got left?

	7) Kate has 76p, she needs 98p to buy felt tips. How much more money does she need to buy them?

	8) Chloe travelled for 33km, she needs to travel 60km to complete her journey. How far does she still need to travel?

	9) Find the difference between 76 and 54.

	10) Adam is 59, his son is 30 years younger than him. How old is his son?
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3) Cut out the question and stick it into your book. 

4) Answer the question showing your working out. 

	1) Find the difference between 95 and 33

	2) A jacket costing £82 was reduced by £35 in the sale. How much does it cost now?

	3) How many less is 32 than 65?

	4) It is 48km to Birmingham. I have already travelled 22km. How many more km do I have to travel?

	5) Ben is 59, his son is 28 years younger than him. How old is his son?

	6) I think of a number, then add 18.

The answer is 44.

What was my number?

	7) A box holds 70 biscuits. How many biscuits are left if you eat 17 biscuits?

	8) A bus seats 52 people. No standing is allowed. 17 people got off a full bus. How many were left on the bus?

	9) A bottle of coke holds 542ml and a bottle of orange hold 335ml. How much more liquid does the bottle of coke hold?

	10) Lauren has two 50p coins and three 20p coins. She pays 90p for a Big Dipper ride. How much does she have left?


LO: To use subtraction to solve word problems

1) Cut out the question and stick it into your book. 

2) Answer the question showing your working out. 


	1) Find the difference between 1428 and 179

	2) I swam for 50 minutes and had a break. I wanted to swim for 1 hour 30 minutes. How much longer did I have to swim for?

	3) Two buses seat 225 people. No Standing is allowed. 138 people got off from both buses. How many people were left on the buses?

	4) I think of a number then add 24.

The answer is 93.

What is my number?

	5) Kate is making a cake and has 1236g of flour. She needs 2255g for the recipe. How much more flour does she need?

	6) It costs Ben £4.16 to post two parcels. One parcel costs £3.32 to post. How much does the other parcel cost to post?


These questions require more than one-step to find the answer. They might need addition and subtraction sums.

	7) There are 130 books on the top shelf. I remove 65 of the books at break time. I add 19 books at lunchtime. At home time I take 5 books. How many books are left on the shelf?

	8) Ravi bought a pack of 90 biscuits. He ate 34 of them on Thursday. On Friday he ate half the amount he ate on Thursday. How many biscuits did he have left?

	9) There are 240 children in KS2. 113 of them have school dinners. How many children have packed lunch?

	10)  Mum takes me shopping. She buys me a jumper for £12.45, a pair of trousers for £24.50 and some swimming shorts for £7.36. She paid with three £20 notes. How much change did she get?


Extension Task: Write your own ‘word problem’ to test a partner.
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